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Sample ltems

Part 1 Diaiggne Commﬁnihca\ftjon B—Ha DiEXER

Section A Dialog@te Completion 5 i % &

Directions: In this section, you will read 2 short incomplete dialogues
between two speakers, each followed by 4 choices marked A, B, C,
and D . Choose the answer that best suits the situation to complete the di-
alogue by marking the corresponding letter with a single bar across the

square brackets on your machine-scoring ANSWER SHEET .

1. A: Beach Motel. May I help you?
B:
A. Thank you. I'd like to make a long distance call to New York.
B. Yes. We need a double room for this weekend.
C. Sorry. I don’t think ;
D. All right. My name is Dav:

can help us. Thank you any way.

s and my room number is 301.

2. A: May I see your: dnvmg lice m vehicle registration card,

please?

A. Sorry, don’t write me a ticket.

B. Ok. But I was driving at 65 miles per hour.
C. Sure. Did I do anything wrong?

D. Yes. But I don’t think I’m a bad driver.

2 E%5%:. 1.B 2.C
.6.



Section B Dialogue Comprehension

nversations between

Directions: In this section , you will read 2 sh
a man and a woman . At the end of each col versa
followed by 4 choices marked A , B “““ C an ‘D,
to the question from the 4 chozc%s gwen iay markzng the corresponding le-

n there is a question

Cﬁbose the best answer

tter with a szngl@éar across he square Wackets on your machine-scoring

1. Man: Did you tell Sally she has failed the exam again?
Woman: No. I didn’t have the heart to tell her.
Question: What does the woman mean?
A. She doesn’t like a heart to heart talk with Sally.
B. She thinks the topic is too serious for her.
C. She thinks the news is too bad for Sally.
D. She dares not to tell Sally the bad news.

2 Man: I had a quarrel with Mary. She said that she hated me com-
ing back home late.
Woman: You need to put you g::ards on the table.

Question: What does: the W ]
A. The man shouldn’t quarre
B. The man should gohomeeag i

C. The man shouldn’t play
D. The man should tatk about the :

- evening.

oblem openly.

£%%%:. 1.C 2.D

Part I Vocabulary B84 EIC

Section A
Directions: In this section , there are 5 sentences , each with one word or

« 7 .



phrase underlined . Choose the one from the 4 choices marked A, B, C
and D that best keeps the meaning of the sentence . Then mark the corre-

sponding letter with a single bar across the square brackets on your ma-

chine-scoring ANSWER SHEET .

1. As workmg hours tend to get shorter and shorter, people should learn

how to spend their increased Iexsure time in some satisfying way.

A. longer hours B. more chance
C. free time = D. happy time
2. The energy companies launched urgent studies of the Arctic environ-
ment.
A. made B. stressed
C. moved D. started

3. Establishment of a sound insurance system is essential for deepening

economic reforms.

A. accurate B. healthy"
C. undisturbed D. safe
4. The workers at large approved of the government’s policy.
A. mostly e B. freely
C. happily * D angnly

5. It would take Mary some txme to g "“over the grief at her husband’s
death. ’

A. overcome

C. pass : D. deal with

£%£%%. 1.C 2.D 3.B 4. A 5. A

Section B
Directions: In this section , there are 5 incomplete sentences. For each
sentence there are 4 choices marked A, B, Cand D. Choose the one that

best com pletes the sentence. Then mark the corresponding letter with a

- 8 -



single bar across the square brackets on your machine-scoring ANSWER
SHEET . '

1. He was admittance to the vernyo‘r‘mal party for not be-
ing dressed properly. S & '
A. unnoticed: R B ignéred
C. denied ¢ _D. rejected

2. Nowadays advertising (;tssts are no longer in reasonable

to the total cost of the product.

A. proportion B. connection
C. reaction D. relation
3. He has not the idea of the problems involved.
A. worst B. faintest
C. most D. weakest
4. Many local authorities are opposed to the introduction

of comprehensive schooling.

A. strangely B. strictly
C. severely " D. sharply
5. I could see a car in the distance x?but I ‘cou‘ldn’ t what

color it was.
A. see through
C. look out

£%%5%:. 1.C 2.A°3.B 4.D 5.

Part I Reading Comprehension 25 =#R4r [FEH#

Directions: There are 2 passages in this part. Each passage is followed
by some questions or unfinished statements. For each of them there are 4
choices marked A, B, Cand D . Choose the best one and mark the corre-

sponding letter with a single bar across the square brackets on your ma-

«+ 9 .



chine-scoring ANSWER SHEET .

Passage One % —3F :

At the Kyoto conference on global warmmg in December 1997, it
became abundantly clear how complex it has become to work out interna-
tional agreements relating to the environment because of economic con-
cerns unique tcggagh country. It is no ”Iionger enough to try to forbid cer-
tain activities or to red‘uée‘:' emissions of certain substances. The global
challenges of the interlink between the environment and development in-
creasingly bring us to the core of the economic life of the states. During
the late 1980s we were able, through international agreements, to make
deep cuts in emissions harmful to the ozone layer. These reductions were
made possible because substitutions had been found for many of the harm-
ful chemicals and, more important, because the harmful substances could
be replaced without negative effects on employment and the economies of
states.

Although the threat of global warming has been known to the world
for decades and all countries and leaders agree that we need to deal with
the problem, we also know that the effects of. the measures, especially
ntries, would be nullified (0, &
wr emissions. Whereas the UN

harsh measures taken in some coun

) if other countries do not control

emissions of carbon dioxide

ﬁbll;ze the content of CO, in

team on climate change has found
would have to be cut globally _
the atmosphere, this path 1§\\th feasible for several reasons. Such deep
cuts would cause a breakdown of the world economy. Important and pop-
ulous ( AFHH) low- or medium-income countries are not yet will-
ing to undertake legal commitments about their energy uses. In addition,
the state of world technology would not yet permit us to make such a big
leap.

We must, however, find a solution to the threat of global warming

.10.
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early in the 21st century. Such a commitment would require a degree of
shared vision and common responsibilities new to "htimanity Success lies
in the force of 1magmat10ns, in 1magmmg what woz:id happen if we fail to
warming effect of a warmer summer, few would cheer the arrival of the

subsequent tropical diseases, especially where there had been none.

1. The main pdi;idse ofg, this passaéé is to
A. analyze thé probiém of global warming
B. argue agaixist making deep cuts in emissions
C. convince .people that global warming is a real threat
D

. criticize some countries for refusing to cut down harmful emissions

2. The reason why it is difficult to get rid of the threat of global warming
is that
A. not all the countries are willing to make deep cuts in emissions
B. many people welcome the global-warming effect of a warmer win-
ter

C. the leaders of many countries are not fully aware of the gravity of

the problem
D. the developing omgntnes wﬁl suff

t with 'j;the cut of CO, emission

3. In the passage the aufhoi’ 1!:1%%(%3
A. the world has recently become

L

e of the threat of global
warming

B. the problem of global warming has largely been solved in the in-
dustrialized countries

C. it is impossible to work out international agreements to cut down
harmful emissions

D. it is no longer easy to reach international agreements relating to

« 11 -



